GLOBAL SUCCESS 11

UNIT 5: GLOBAL WARMING

A. VOCABULARY

ST

T

10.

11.
12,

13.

14.

WORDS/ PHRASES/

COLLOCATIONS/ IDIOMS
Globe (n)
Global (a)
Globalize (v)
Globalization (n)
Global warming
Cause (n) = reason (n)
Consequence (n) = result (n) =
outcome (n)

Let sb V= allow sb to V
Remind sb ABOUT st

Remind sb OF sb/ st

Refer TO

An increase (n) + IN st

>< a decrease (n) + IN st
Increase (v) = raise (v) + O

S + increase (v) = rise (v) = go
up (khoéng c6 O)

Temperature (n)

Because of = due to = owing to
= on account of + N

Because = Since=As +S +V

Certain (a) = sure (a)
Certain (a) = particular (a)

Atmosphere (n)
Exactly (adv) = accurately (a) =
precisely (adv)

Produce (v) + (gas) = release (v)
= emit (v)

Energy source/ source of energy
Energetic (a)
Renewable energy

TRANSCRIPTION

gloub
‘glovbal

'glovba,laiz ,glovball

'ze1fon

‘glovbal 'wormin
kaz = 'rizan
'‘kansakwans =r1
'ZAIt

= 'avt,kanm

let =2d'lav
ri'maind a'bauvt
ri'maind Av

ra'far to

an 'inkris + 1n
>< 9 'dikris + 1n
'in kris = reiz

'1n kris = raiz =
gou Ap
'‘tempratfor

br'kez Av = du to =

‘ovints = ana
'‘kavnt Av

br'koz = sins = aez
's3rtan = Jor
's3rton = par
'tikjalar

‘aetma, sfir
1g'zeektli =
‘aekjoratli = pr1
'saisli

'‘provdus + (gaes) =

ri'lis

= 1'mit

‘enardzi sors
enar'dzetik
ri'nusbal 'enardzi
nan-ri'nuabal

MEANING

Qua dia cau
Thudc vé toan cau
Toan cau hoé

Su toan cau hoa
Su néng lén toan cau
Nguyén nhan
Hau qud, két qua

Cho phép ai lam gi
Nhac nhd ai lam gi

Ggi cho ai nhé vé ai/ diéu gi

Dé cap dén

Sutang lén ... >< su sut

giam

Lam cho cai gi tang Ién

S + tang lén.

Nhiét do
BG vi

Chac chan
Cu thé

Bau khong khi
Mot cach chinh xac

Thai ra (khi)

Nguon nang lugng
Tran day nang lugng

Nang lugng c6 thé tai tao
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15.

16.

17.

18.

19.

20.

21.

22,
23.
24.
25.
26.

27.
28.

29.

30.

31.
32.

Non-renewable energy
Alternative energy
Fossil fuel (coal, oil, natural gas)

Release st INTO st

A large amount of + N kdd
The amount of + N kdd

Act (v) (as st)

Action (n)

Activity (n)

Actor (n)/ actress (n)
Greenhouse

Greenhouse effect
Greenhouse gas

Pollute (v)

Pollution (n)

Pollutant (n)

impact (n) = influence (n) =
impact (n) + ON sb/st
impact (v) = influence (v) =
impact (v) + sb/st

Link A to B => A + be linked TO
B

Rising sea level

Polar ice cap

Melt (v)

S + Rise

S + Raise + O

Add st TO st

Lead TO = result IN = bring
ABOUT/ ON

= give rise TO = cause (v)

# result FROM: la do, la tu diéu
gigayra
Serious (a) = severe (a)

Negative (a) >< positive (a)

Heat-trapping pollutant
Destroy (v) = damage (v) =

‘enardsi

ol'tarnativ 'enardzi
'fasal 'fjual

(kowl, o1l, 'neetfaral
gaes)

ri'lis 'intu

9 lardz @'mauvnt av
0i @'mauvnt Av

ekt (ez)

‘aekfan

ek'tivati

‘aektar 'aektras
'grin,havs
‘grin,havs 1'fekt
‘grin,havs gees
pa'lut

pa'lufan

pa'lutant

'Impaekt = 'influans
= 'Impaekt

link

‘ra1zin si 'leval
'‘poular ais keep
melt

raiz reiz

ed to

lid tv = r1'zalt 1n

= brin 3'bavt/ an =
giv raiz tv = kaz

# ri'zalt fram:

'sirias = sa'vir

'negativ ><
'‘pazativ

hit-'treepin pa'lutant
di'stro1 = 'deemads

Nang luogng khéng thé tai tao
Nang lugng thay thé

Nhién liéu hoa thach (than
da, dau md, khi dot)

Thai cai gi VAO TRONG ...
1 lugng I6n

Lugng

C6 chirc nang nhu la
Hanh dong

Hoat déng

Dién vién

Nha kinh

Hiéu ing nha kinh

Khi nha kinh

Gay 6 nhiém

Su 6 nhiém

Chat gay 6 nhiém

Su anh huéng Ién ai, cdi gi

Lién két A véi B => A + dugc
lién két véi B

Nudc bién dang 1én

chdm bang vlung cuc

tan chay (v)

S + Tang

S+Tang+ O

Thém cadi gi vao ...

Dan tGi

Nghiém trong (a) = nghiém
trong (a)
Tiéu cuc (a) >< tich cuc (a)

Chat gay 6 nhiém bay nhiét
Pha huy
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33.

34.
35.

36.
37.
38.
39.
40.

41.
42.
43.

44.
45.

46.

47.

48.

devastate (v)

Destruction (n) = damage (n) =
devastation

Destructive (a) = damaging (a) =
devastating

Disaster (n) = catastrophe (n)
Disastrous (a) = catastrophic (a)

Replace A with B
Be used up = be exhausted = be
depleted = run out

Material (n)

Throw away

Substance (n)

Form (v)

Dead (a)

Die (v)

Death (n)

Deadly (a)/ adv

Flow out

Solid (a)

Limit (v) = restrict (v)
Limited (a) = restricted (a)
Limitation (n) = restriction (n)

Suffer FROM

Forest (n) => forest fire
Forestry (n)

Forestation (n)/ afforestation (n)
Reforestation (n)

Deforest (v) = cut down trees
Deforestation (n)

Immediately (adv) = instantly
(adv)

= at the drop of a hat

A report ON st
Report ON st
Heat stress

= 'devo,steit
dr'strakfan =
'‘deemadz = ,deva
'ste1fon

di'straktiv =
‘deemidzin = 'deva
stertin

di'zeestor = ko
'taestrofi di'zeestras
= keaeta'strafik
ri'‘pleis

bi juzd Ap = bi 1g
'zastad = bi d1'plitid
= rAn avt

ma'trrial

Orouv o'wer
'snbstans

form

ded

dar

deB

‘'dedli

flov aut

'salad

'limat = ri'strikt
'limatad =i
'striktad ,lim1'teifon
= ri'strik[an

'snfar fram

‘forast => 'forost
‘faror 'forostri
rifora'sterfan
di'forast = kat davn
triz d1,fort'ste1fan

I'midistli =
'Instantli

= ot 0o drap av a
heet

9 ri'port an
ri'port an

hit stres

Su phé huy

Mang tinh chat pha huy

Tham hoa

Thay thé
Can kiét

Chat liéu
Ném di
Chat

Hinh thanh
Chét

Cai chét

Gay chét nguoai
chay ra

Ran (a)

Han ché

Co han

Su han ché

Chiu dung

Rung => chay rung
Lam nghiép

Su tréong ring

T&i trong ring

Chat phé rung

Su chat phé rung
Ngay lap tic

B&o cdo vé
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49.
50.
51.
52.
53.

54.

55.
56.
57.

58.

59.

60.
61.
62.

63.
64.
65.

66.
67.

68.

69.
70.
71.
72.

Be worried about

Burn - burnt - burnt

Climate change

Conference (n)

Decide to V = make a decision to
\"/

= make up one’s mind

Annual (a)

Annually (adv) = every year =
yearly

Review (v)

The key goal

Require sb to V

Require Ving

reduce (v) = decrease (v) = cut
downon + O

S + reduce/ decrease/ decline/ go

down (khong co O)
Emit (v) = give off
Emission (n)
Balance (n) (v)
Remove st FROM st
Coal plant

Power plant

power station
Switch TO st

Store (v)

Solution TO a problem/ question

Methane (n)

Powerful (a)

Power (n)

Be responsible FOR = Take
responsibility FOR

Be to blame FOR = Take the
blame FOR

Be in charge OF= take charge OF
Current (a) = present (a)
Landfill (n)

Climate expert

Agree with sb ON st

bi ‘w3rid a'baust
b3rn - b3arnt - b3arnt
'‘klatmat feinds
'‘kanfarans

di'said = meik a d1
's139n = meik Ap
wANnz maind
‘2enjual

‘@njuali = 'evori jIr
= 'jirli

ri'vju

09 ki goul

ri‘kwarar

ra'dus = 'dikris =
kat daon an

I'mit = giv off

‘baelons
ri'muv fram
kool pleent
'‘pavar pleent
'‘paver 'steifan
swilf to

stor

so'lufon tu o
‘prablem 'kwestfan
'me,Beln
'‘pavarfal
'‘paver
ri‘spansabal
bletm

Jardg

'‘karont = 'prezant
'leend f1l

‘klazmat 'ekspart
a'gri an

Lo lang vé

Chay

Bién d6i khi hau
Cudc hodi thao
Quyét dinh lam gi

Hang nam

On lai, xem xét lai
Muc dich chinh
Yéu cau ai lam gi
Yéu cau lam gi
Lam gidm cai gi

S + giam

Thai ra

Su thai ra, khi thai
Su can bang, can bang
Loai cdi gi ra khai ...
Nha may dién dét than
Nha may nang lugng

Chuyén sang cai gi
Luu trir

Giai phap doi véi van dé

Mé tan
Manh mé

Suc manh, nang luongj

Co6 trach nhiém

Hién tai (a) = hién tai (a)

Bai rac
chuyén gia khi hau
Dong y véi sb ON st
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73.
74.

75.

76.
77.

78.
79.

80.
81.
82.
83.
84.
85.
86.
87.
88.
89.
90.

91.

92.

93.
924.

Make progress

Chemical (a)

Chemist (n)

Chemistry (n)

Living things/ organisms/
creatures

Situation (n)

Equal (a) = fair (a) = just (a)
Equality (n) = fairness (n) =
justice (n)

>< inequality (n) = unfairness
(n) = injustice (n)

Send st INTO st
Contribute TO = make a
contribution TO

Combine A with B

Make space FOR

Soot (n)

Melt (v)

Crop (n)

Soil (n)

Liquid (n)
Layer (n)

Tiny (a) >< huge (a)

Black dust

Affect (v) = influence (v) =
impact (v) + sb/st

= have an effect/ influence/
impact ON sb/st

= take a toll ON sb

Few + Ns/es = not many
A few + Ns/es = some
Little + N = not much

A little + N = some

Speed up >< slow down

Solid fuel
Be bad FOR >< be good FOR

meik 'pra,gres
'‘kemakal

'‘kemist

'‘kemastri

'livin O1nz/'orga
.n1izamz/'krifarz
Sifu'erfan

'ikwal = fer = dzast
I'kwalsti='fernas=
'‘dznstos

>< ni'kwalati =
an'fernas =
injustice

send 'intu
kon'tribjut to

= meik 3 kantrs
‘bjufon tv
‘kambain

meik speis for

sot

melt

krap

so1l

'ltkwad

'letar

'taini >< hjudz
blaek dast

o'fekt = 'influsns =
'Tmpaekt

fju = nat 'meni
9 fju = sam

'Iital = nat mayf
9 'lital = sAam
spid Ap >< slov
daovn

'salad 'fjual

bi baed for >< bi
gud for

tién bo

Hba chat (a)

nha héa hoc (n)

Hdéa hoc (n)

Sinh vat/sinh vat/sinh vat

tinh huong (n)
cong bang (a)
su cbng bang

su khéng céng bang

Thai cdi gi vao trong ....
béng gdp

Két hop
Tao khéng gian cho
B6 héng
Tan chay
Mua mang
bat

Chat 1dng
LSp

Nhé >< I6n
Bui den
anh hudng

it

1 vai

it

1it

Tang toc >< giam

Nhién liéu ran
Khong tét, c6 hai cho ><
khong tét cho
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95. Organic (a) >< inorganic (a)

96. Natural resource

97. Be used FOR st/ Ving

98. Convenient (a) = inconvenient

(a)

99. Reliable (a) >< unreliable (a)

Rely ON

100.Slogan (n)

101.Call FOR actions

102.Leaflet (n)
Brochure (n)

103.Persuade sb to V
Convince sb OF st

104.Grab one’s attetion
105.Catchy (a)
106.Separate (v)

107.Include (v) + sb/st/ Ving

108.Attract (v)
Attraction (n)
Tourist attraction
Attractive (a)

(physical) Attractiveness (n)

109.Heat up = warm (v)
110.Put st IN = install (v)
111.Careful >< careless
112.Warn sb not to V

Warn sb against/ about/ of st
113.Watch out FOR = look out FOR
114.Danger (n) = hazard (n) = risk

(n) = threat (n)

Dangerous (a) = hazardous (a) =
risky (a) = threatening (a)
Endanger (v) = threaten (v) =

pose a threat TO
Endangered (a)

or'geenik >< 1nor
'‘gaenik
'neetfaral 'risors

bi juzd for
kon'vinjant =
Inkan'vinjant
ri'larzsbal >< ,Anr1
'latabal

ri'lar an

'slovgan

kol for 'aek[anz
'liflat brouv'[or

par'sweid kan'vins
AV

graeb wanz attetion
‘keet]i

'seprat

in'klud +

9'traekt

9'traekfon

(‘frzikal) o
'traektivnas

hit Ap = worm

pot strit in = 1n'stol
'kerfal >< 'kerlas
worn nat warn
‘genst o'bavt av
/wot[/

‘deindzor =
‘heezard = risk =
Oret 'deindzoras =
'‘haezardas = 'riski
= 'Bretonin en
'‘deindzar = 'Oretan
= povz o Oret tv en

H(tu co >< vO co

Nguén tai nguyén thién
nhién

Pugc sir dung cho

Thuan tién, tién lgi >< bat
tién

Pang tin cay >< khbéng dang
tin

Phu thuoc

Phuong cham

Kéu goi hanh dong

TS roi

Sach quang céo (dia danh du
lich)

Thuyét phuc ai lam gi
Thuyét phuc ai tin vao diéu
gi

Thu hdat sy cha y

Bat tai

Phan tach, chia tach

Bao gom

Thu hat

Su thu hat

Piém thu hat khach du lich
H&p dan

Su hdp dan (ngoai hinh)

Sudi am

Lap dat, thém vao cai gi
Can thanj >< béat can
Canh bédo ai khéng lam gi
Canh béao ai vé viéc gi
Coi chling, can than
Nguy hiém

Nguy hiém

Gay nguy hiém

Cd nguy co tuyét chung
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115.

116.

117.
118.

119.

120.
121.

122,

Provide sb WITH st
Provide st FOR/ TO sb
Offer sb st

Offer st TO sb

Face mask

Be intended to V

Farming activity
Farming method
Rice field
Bacterium (n)
Bacteria ()n

Be flooded with

123.Turn st into st

124,

Feed (v) - fed - fed

125.Agree to V

126.
127.
128.

129,

130.
131.
132.

133.
134.

Protect sbh FORM st

End st = put an end TO st
Sign (n)

Signal (n)

Signature (n)

Meet + (challenge/ demand/

need/ expectation/ deadline ...)

Helpful (a) >< helpless (a)
Cool down

Frightened (a) = terrified (a) +

of/ about
Run away
Hide - hid - hid

‘derindzoard

pra'vald pra'vald far
to

'Ofar 'ofer to

fers maesk
bi in'tendad

‘farmin aek'tivati
‘farmin 'meBad

rais fild

baek'tiriom baek'trria
()en

bi 'fiadad

t3rn 'intu

fid - fed - fed

'gri

pra'tekt form

end = potoan end to
sain 'signal
‘'signatfor

mit + ('feelondz dI
'maend nid ekspek
'terfan 'de,dlain ...)
'helpfal >< 'helplas
kul davn
‘frartand
faid

rnn @'wel
haid - hid - hid

= 'ters

Cung cap
Cung cap

Mat na, khau trang

Duogc du dinh/ dugc thiét ké
cho lam gi

Hoat ddng n6bng nghiép
Phuong phap canh tac
Canh dong lda

Vi khuén

Nhiéu vi khuan

Ngéap (nudc), day, nhiéu
Bién cai gi thanh cai gi
Cho an

bong y lam gi

Bdo vé ai

Cham dut

Dau hiéu

Tin hiéu

Chir ky

Giadi quyét (thur thach), dap
ng (nhu cau/ mong doi),
nop bai dung han

H{ru ich >< vo ich

Lam mat

Sg hai

Chay di
Trén, giau

B. GRAMMAR
HIEN TAI PHAN TU VA QUA KHU PHAN TU
GERUND PRESENT PARTICIPLE PAST PARTICIPLE
DANH PONG TU HIEN TAI PHAN TU’ QUA KHUPHAN TU’
Hinh thikc: Ving Hinh thic: Ving Hinh thitc: Ved/ V3
- mang nghia chu ddng - mang nghia chu ddng - mang nghia bi dOng




GLOBAL SUCCESS 11

- ¢6 chlrc nang nhw mOt danh twr

- ¢6 chlrc nang nhw mOt tinh twr

- ¢6 chlrc nang nhw mOt tinh twr

Cach dung:
1. La chul ngir trong cau

Eg: Entering university is a wonderful

experience

2. Puoc str dung sau céc (V) sau:
avoid, consider, dislike, enjoy,
finish, forgive, imagine, involve,
practise, suggest, mind,
encourage, permit, risk,
recommend, regret ...

Eg: My parents suggested studying
abroad.

3. Puogc strdung sau cac (v) +
(prep) sau: agree with, apologise
for, concentrate on, depend on,
dream of, insist on, rely on,
succeed in, focus on, carry on ...
Eg: He concentrates on preparing for
the exam

4, Puogc st dung sau cac cum tur:
can’t help, can’t stand, feel like, be
worth, no use, no good, no point ...
Eg: It’s worth taking a gap year

before university

Cach dung:

1. Dung d€ miéu ta tinh chat clia
vat, sy viéc, ban chat clia con nguoi
Eg: This is an interesting film

He is an interesting person

2. Ding d€ hinh thanh ménh dé
phan tir hién tai, gidi thich ly do
ctiia mOt hanh d0ng nao dé

Eg: Seeing the fire, the kid called the
police (B&i vi nhin thdy ddm chdy,
dtta tré da goi cdnh sdt)

3. Ding d€ hinh thanh ménh dé
phan tir hién tai, chi 2 hanh dong
xay ra dong thoi

Eg: Standing there, she cried

(Co ta dlirng d6 va khoc)

Cach dung:

1. Diing d€ miéu ta cam xiic clla
nguoi

Eg: She is interested in the film
2. Dung dé hinh thanh ménh dé
phan tir qua kh, gidi thich Iy
do ctia mOt hanh ddng nao dé
Eg: Worried about global
warming, children planted more
trees

(BOivilo ldng vé nong lén toan
cdu, nhiing dita tré trong nhiéu
cdy hon)

3. Dung dé hinh thanh ménh dé
phan tirhién tai, thé hién mot
diéu kién

Eg: Burnt for energy, fossil fuels
release CO2 into the atmosphere.
(Néu duoc dot chay dé tao thanh
ndang luong, nhién liéu hod thach
thdi ra CO2 vao bdu khéong khi)

Chu y: Hién tai phan tlr va qua kh phan tlr hinh thanh l1én ménh dé phan

tu: c6 chung chu ngir véi déng tir @ ménh dé chinh trong cau
Eg: Walking on the beach, they pick up litter (chu ngit ctia walking la

THEY)

Eg: Produced in large amounts, carbon dioxide cause air pollution

(chtl ngit ctia produced - bi dOng la carbon dioxide)

Ménh dé phan tir (participle clause) 1 mdt dang ménh dé phu thudc :
- Duoc dung dé ndi hai ménh dé c6 ciing chui ngir, tao thanh mot y dién dat ngan gon hon.

- Thuong duge ngan cach véi ménh dé chinh béi ddu phay va cé thé duoge dat & dau, gitka, hodc cudi cau.

- MD phan tir hién tai st dung hién tai phan tlr Ving (chti d0ng); MD phan tlr qua khit stt dung qua kh phan tir

Ved/ V3 (bi d0ng)

Eg: Feeling exhausted after a long hard-working day, she fell asleep right on his table.

(Cam thay kiét sttc sau mOt ngay dai lam viéc vat va, cé dy thi€p di ngay trén ban.)

Taken to the garage, the car was repaired within an hour



https://zim.vn/menh-de-trong-tieng-anh-la-g%C3%AC
https://zim.vn/menh-de-trong-tieng-anh-la-g%C3%AC

GLOBAL SUCCESS 11

(Puoc dura vé ti€m stra, chi€c xe duoce stra trong 1 ti€ng dong ho)

CACH NOI 2 VE CAU €O CUNG CHU NGU’=> TAO THANH MENH DE PHAN TUHIEN TAI

Piéu kién: 2 ménh dé trong cau c6 chung chu ngir:

B1: Xac dinh ménh dé chi nguyén nhan, thoi gian ... bang cach gach chan cac lién tur: because, since, as, when ...
B2: BO lién tlr, bd chll ngir (néu chti 1a 1 danh tir thi chuyén ra sau thay thé dai tir @ ménh dé chinh),

B3: Bién ddng tirtrong ménh dé nguyén nhan, thoi gian ... thanh Ving. Gitr nguyén cdc thanh phdn con lai trong

cdu

Eg: Because my sister hoped to pass the exam, she worked hard (chuyén my sister ra sau, thay thé she)

= Hoping to pass the exam, my sister worked hard

CACH NOI 2 VE CAU €O CUNG CHU NGU'=> TAO THANH MENH PE PHAN TU'QUA KHU'

piéu kién: 2 ménh deé trong ciu cé chung chu ngii:

B1: X4c dinh ménh dé chi nguyén nhan, diéu kién... bang cich gach chan céc lién tir: because, since, as, if...
B2: BO lién tlr, bd chll ngir (néu chti 1a 1 danh tir thi chuyén ra sau thay thé dai tir @ ménh dé chinh),

B3: Bi€n dOng tir trong ménh dé nguyén nhan, diéu kién ... thanh Ved/ V3. Gilt nguyén céc thanh phan con lai

trong cau

Eg: Because dwellers was warned about the danger, they moved to other places (chuyén dwellers ra sau, thay thé they)

= Warned about the danger, dwellers moved to other places

C. EXERCISES
Ex 1. Circle A. B. Cor D to indicate the word whose underlined part differs from the other three in

pronunciation in each of the following questions.

1. A cause B. trap C. gas D. act

2. A. coal B. soot C. global D. goal
3. A.refer B. remind C. release D. effect
4. A produce B. pollute C. carbon D. polar
5. A.forest B. remove C. expert D. emit
6. A. methane B. landfill C. balance D. annual
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7. A.carbon B. slogan C. amount D. climate
8. A.challenge B. change C. greenhouse D. energy
9. A.solid B. solution C. positive D. crop

10. A.combine B. power C. provide D. method

Ex 2. Circle A. B. C. or D to indicate the word that differs from the other three in the position of the primary

stress in each of the following questions.

11.
12.
13.
14.
15.
16.
17.
18.
19.
20.

A. global B. remind C.release D. produce
A. consequence B. temperature C. atmosphere D. renewable
A.annual B. balance C. forest D. remove
A.balance B. carbon C. methane D. release

A. fossil B. refer C. greenhouse D. level

A. pollutant B. energy C. atmosphere D. negative
A. material B. deforest C. consequence D. pollution
A. substance B. solid C. suffer D. discuss
A.remove B. climate C. emit D. reduce
A.responsible B. renewable C. temperature D. emission

Ex 3. Supply the correct form of the verbs in the brackets, using present participles and past participles

1
2
3
4
5.
6
7
]
9

10.
11.
12.
13.
14.
15.
16.
17.
18.
19.
20.
21.
22.
23.
24,
25.

(build) in the 15th century, this house is the oldest in this area.

. The children were sitting on the floor, (play) with their toys.

(Prepare) by the best cook in town, the meal was sheer poetry.

(Lie) on the sofa, they were watching TV.

(play) more than a million times on Youtube, my latest song is doing amazing

(motivate) by his friends, Ron accepted the job offer.

(hold) a cup of coffee in her hands, Jyoti watched us play cricket.

(renovate) recently, my house is shining like a diamond

. The cat hid behind a wall, (watch) the mouse eat cheese

(miss) the college days, I called my friends.
(look) at the positive side of the job offer, Max accepted it

(surround) by police officers, the bank robber gave up.

(sit) in the rocking chair, the old woman looked at the kids in her yard.

I opened the mail, (shake) with excitement.

(confuse) by the homework assignment, I emailed my professor.

(encourage) by all the teachers, Alex joined the IAS coaching.

(finish) my homework, I breathed a sigh of relief.
(wrap) the sandwiches in tinfoil, they were rgoing to open the restaurant

(remove) his glasses, the professor shook his head with disappointment

(smile) from ear to ear, Anne opened the present.

(arrive) at the store, I found that it was closed.

(speed) down the highway, Bob didn't notice the police car

(write) by a famous author, the book was a best-seller.

(feel) sympathy for Martin, Daryl offered to help.

(realize) that there was no hope to save his business, he gave up.
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26. (surprise) at my reaction, she tried to console me.
27. (scare) of making mistakes, he answered very slowly.
1. Built 10. Missing 19. Removing
) ) 11. Looking 20. Smiling
+ Playing 12. Surrounded 21. Ariving
3.p repared 13. Sitting 22. Speeding
4. Lying 14. Shaking 23. Written
5. Played 15. Confused 24. Feeling
16. Encouraged 25. Realizing
6. Motivated 17. Finishing 26. Surprised
7. Holding 18. Wrapping 27. Scared
8. Renovated
9. Watching

Ex 4. Circle the underlined part that needs corection
. -by the beach, I kept thinking about how my life has changed.
- out of the sea in front of us, the sun started to warm our faces.

- on the very first press, the document was extremely valuable
. The boys loved their boxing gloves, - them even to bed
. - heavily, the runner entered the final lap of the race.

. - from a long day at school, Fatima listened to music to relax

. Furiously searehed for the answers in the textbook, Jessy became confused during the test

. _ by an Indiana housewife in 1889, the first dishwasher was driven by a steam engine
_ with the job and the people he was working with, he left the company.

. _ by the performance, the audience applauded the actor.
- to his favorite songs, Max checked all the papers and signed the posters.

_ us for the achievement, our principal handed over the cash prizes.

13. _ the best application for learning English, my English learning application just crossed 1 billion
downloads

14. - by the long hours and low pay, my sister finally quit her job.

15. - by the morning's work, I got myself a cup of coffee and sat down.

O O NS U A WN -

-
o

[ —
N

Ex 5. Fill in the blank with a suitable word given in the box

extinction deforestation Greenhouse emissions responsible
reduce footprint energy temperature climate
1. Having measured the company's carbon , they realised that the amount of carbon dioxide

(CO) it produced was great.

2. The alarming rate of results in damage to the quality of the land.
3. Alarge amount of carbon dioxide are released into the atmosphere by burning fossil
fuels.
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Many species are threatened with due to deforestation and loss of habit.

Carbon dioxide is one of the primary gases that cause global warming.

Planting more trees can carbon dioxide in order to save our environment.

I believe that the only way for us to reduce global warming is to cut down on use.

As global rise, there are more cases of heat-related diseases

¥ ® NG

Motor vehicles running on petrol are for a large amount of carbon dioxide emissions

10. Although global warming is causing changes in weather patterns, it is only one aspect of change.

KEY

footprint
deforestation
emissions
extinction
greenhouse
reduce
energy
temperature

responsible

el e A i

0. climate

Ex 6. Fill in the blank with a suitable word given in the box

soot progress fossil renewable pollutants
released negative organic call space

1. The governments are making significant in fighting deforestation

2. Breathing in dust and , which is produced when wood is burned, caused lung problems.

3. The organisations for urgent actions to protect the environment.

4. There is a need to limit the amount of greenhouse gases being into the atmosphere

5. Supermarkets have recognized the increasing popularity of food, which are produced without
using chemicals

6. The air pollution has had a very effect/impact on human health

7. The forest was cut down to make for farming

8. Carbon dioxide is produced in huge amounts when fuels are burned.

9. By increasing the use of energy, we can reduce harmful greenhouse gas emissions and help to
lessen the effect of climate change.

10. Buses emit between 20 and 100 times fewer per person than motorcycles and cars.

KEY

1. Progress

2. Soot
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Call
Released

Organic

Space
Fossil
Renewable

3
4
5
6. Negative
7
8
9
1

0. Pollutants

Ex 7. Fill in the blank with a suitable word given in the box

lead to result from give off take i refers to
cut down suffer from throw away used up calls for
1. US consumers around 100 billion plastic bags annually.

2. Climate change, desertification, soil erosion, fewer crops, flooding, increased greenhouse gases in the atmosphere

the loss of trees and other vegetation

W

They have

o

6. Burning fossil fuels, cutting down forests and farming livestock

temperature.
7. Plants

Increasing numbers of people

The current environmental pollution

forests to clear land for cattle.

carbon dioxide from the air

8. The forest fires

9. The term “Greenhouse gas”

10. The earth's resources are being

KEY

Throw away
Result from
Calls for

Cut down

Lead to
Take in
Give off
Refers to

1

2

3

4.

5. Suffer from
6

7

8

9

1

0. Used up

Ex 8. Complete the following sentences with the correct forms of the words in capitals

1. Heat-trapping

are known as greenhouse gases and they result in greenhouse effect (POLLUTE)

cooperation of world leaders.

lung cancer because of air pollution

carbon dioxide, nitrous oxide or methane

at an alarming rate.

the rise in the earth’s

thick black smoke and cause loss of habitat for animals and plants
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2. Many people are very concerned about the of the rainforests. (DESTROY)
3. Farming contributes more than 30 percent of the total greenhouse gas . (EMIT)
4. The overuse of chemical fertilizer the environment. (THREAT)
5. The main cause of warming is the burning of fossil fuels, such as natural gas, oil, and coal. (GLOBE)
6. The of the earth's atmosphere causes sea-level rise. (WARM)
7. Many animal species are in danger of due to the loss of their habitat and inability to adapt to
climate change. (EXTINCT)
8. Soot from open waste burning has a strong warming on the earth (AFFECT)
9. Methane is much more than carbon dioxide (DANGER)
10. Flooded rice field also make it easier for soil to produce greenhouse gases (BACTERIUM)
11. energy is natural energy source such as wind, water, and sunlight which are always
available. (NEW)
12. World leaders, climate experts and national will carefully disucss the measures to make
global progress on climate change (REPRESENT)
13. Recycling is an effective to environemental pollution (SOLVE)
14. Methane comes from farming and landfill waste (ACT)
15. The and use of coal, oil, and natural gas also release methane (PRODUCE)
16. Madagascar suffers from a high rate of (FOREST).
17. When people can understand clearly the impacts, they will be more aware of conserving forests.
(environment)
18. Air can cause acid rain which damages water, soil and vegetation. (pollute)
KEY

1. Pollutants 6. Warming 11. Renewable 16. Deforestation

2. Destruction 7. Extinction g Repr?sentatives i; Envir(‘)nmental

3 Emissions 8. Effect 14: SOll.lt{O-ll * Pollution

. Activities

4. Threatens 9. Dangerous 15. production

5. Global 10. Bacteria
Ex 9. Fill in the blank with a suitable preposition
1. She came up up new ideas to cut down carbon footprint.
2. Having cut down the forests to make space farming, now local people have to suffer severe flood.
3. Global warming is the rise/ increase the world’s temperature
4. Iwill focus on the effects of global warming of people’s health and life Earth in general.
5. Greenhouse gas emissions fromfactories and vehicles are the biggest threats our planet.
6. Global warming leads climate change, allowing for infectious diseases to spread more easily.
7. It also has severe impact water supplies and threaten food production.
8. Trees take C0O2 and give 02
9. In the US, motor vehicles running on petrol are responsible about 33% of CO2 emissions.
10. The situation is getting worse as the demand cars is increasing rapidly in the modern world.
11. Global warming also results severe weather-related natural disasters
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12. Hundreds of millions of people may suffer famine, water shortages and extreme weather patterns.
13. Carbon footprint is the amount of carbon dioxide released the atmosphere

14. Emission means a gas or other substance which is sent the air

15. Young kids also make significant contribution the slowing down of global warming.

16. She referred the solution several times during her speech about ways to preserve the environment

17. Renewable energy can be replaced naturally without being used

18. Black carbon speeding melting of glaciers, and rising sea level

19. Carbon from fossil fuels combines oxygen in the air to form large amoutns of CO2

20. We should recycle plastic bags rather than throw in order to protect the environment

21. Some farmers were worried the consequences of deforestation, so they stopped burning trees

22. Fossil fuels will be used up in this century while renewable energy will never run

23. Farming provides us the food that we eat every day
24. Numerous farmers now switch biological fertilizers to boost the crop growth
25. Global warming is linked rising sea levels because it can lead to polar ice melting
26. Rising temperatures have already been contributing faster melting of glaciers.
27. Trapping too much of the sun’s heat, greenhouse gases stop it escaping back into space
KEY

1. On 10. For 19. With

7. For 11. In 20. Away

12. From 21. About

3. In 13. Into 22. Out

4. On 14. Into 23. With

5. To 15. To 24. To

16. To 25. To

6. To 17. Up 26. To

7. On 18. up 27. From

8. In/ off

9. For
Ex 10. Circle A. B. C or D to indicate the correct answer to each of the following questions
1. is the increase in the temperature on Earth
A, Greenhouse effect B, Global warming C, Climate change D, Ecological balance
2. Although global warming is causing changes in weather patterns, it is only one aspect of
A, global warming B, ecological balance C, climate change D, carbon footprint.
3. Certain ____in the atmosphere such as carbon dioxide, methane and nitrous oxide, block heat from escaping.
A. effects B. emission C. gases D.layers
4. means changes in the earth’s weather, including changes in temperature, wind patterns and rainfall.
A, global warming B, ecological imbalance C, greenhouse effect D,

climate change

5. Greenhouse gas from factories and vehicles can result in global warming
A, emit B, emissions C, effects D, causes
6. Most of the jungle was to get wood in order to produce paper products.
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A, deforested B, threatened C, warned D, emitted

7. Alarge amount of carbon dioxide are released into the atmosphere by burning fossil fuels.
A, emissions B, carbon footprint C, emit D, greenhouse gas

8. Oil spills are a great to the undersea world

A, threat B, threaten C, threatened D, threateningly

9. After we read the report on how the burning of petrol in cars to climate change, we determined to reduce

our carbon footprint.

A, devote B, contribute C, result D, cause

10.Too many greenhouse gases in the atmosphere may block heat from escaping into space and trap too much heat
next to the Earth’s surface causing _______

A, anotherice age B, global warming C, earthquakes D, volcanic eruptions

11.A strong greenhouse effect will warm the oceans, melt glaciers and increase

A. temperature B. sea water C.sealevel D. pollution
12.Carbon dioxide is one of the primary _______ that cause global warming.

A. greenhouse effect B. natural gas C. greenhouse gases D. natural resource
13.Computers have had a great impact ____ our lives since their appearance.

A.on B. at C.for D.to

14.The crash resulted _______ the death of 10 passengers

A to B, at C, into D, in

15.The primary causes of species extinction result habitat destruction, commercial exploitation and
pollution.

A.in B. of C. for D. from

16. is destroying larger areas of tropical rain forests

A, Afforestation B, Deforestation C, Reforestation D, Forestry
17.The government the flood victims with food, clothes and money.

A, gave B, provided C, offered D, presented
18.Some animals go because climate where they live changes

A, extinct B, extinction C, extinctive D, dead
19.Development of the area would wildlife

A, danger B, dangerous C, endanger D, dangerously
20.An species is a species which has been categorized as very likely to become extinct.
A, endangered B, endanger C, dangerous D, danger
21.Clearing forests for timber has resulted the loss of biodiversity

A, with B, at C, in D, from

22.This species of African elephants is

A. dying out B. dying of C. dying on D. dying down
23. is wiping out many kinds of plants and animals.

A. Defoliation B. Deforestation C. Deformation D. Degradation
24.Limiting the global temperature rise requires global CO2 emissions

A.reduce B. to reduce C. reducing D.reduced
25.The tiger is of extinction. It is difficult to find them in the wild.

A. on the wing B. on the rocks C. on the verge D. on the ground
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26.Switching to eco light bulb is one way to protect the environment.

A. energy-wasting B. energy-expending C. energy-lacking D. energy-saving

27.Inever leave any electrical appliances on standby and I think it is a good way to

A. take care of B. use C. keep D. conserve
28.Nowadays, people are searching for more materials to build their houses.
A. environment-friendly B. environmentally-friendly

C. environmental-friendly D. environmental-friend

29.Every piece of equipment was sent to the fire.

A. consumable B. spendable C. available D. disposable
30.Police are significant progress in fighting computer crime.

A. doing B. making C. paying D. giving
31.In the agriculture, farmers try to limit the use of chemicals and fertilizers.

A. sustainable B. conserving C. preserving D. supporting
32.In Singapore, people try to 80% of all waste.

A. reprocess B. reclaim C.recycle D. reuse
33.We need to act quickly to to climate change, or it will be a disaster for the whole planet.
A. adapt B. go back C.reverse D. transit
34.There's no easy solution _______this problem.

A at B. for C. with D. to

35.My sister _______me not to trust him.

A. caused B. warned C. refused D. denied
36.I've____ of milk - would you like some creamer instead?

A. picked up B. run out C. hung up D. taken up
37._____ !There's a car coming!

A. Put back B. Go off C. Watch out D. Run out

38.During the last hundred years we have done great to the environment.

A. injury B. pollution C. damage D. hurt

39.There are lots of things we can all do to ____ the environment.
A. enhance B. protect C. make D. build
40.Make sure your car runs on unleaded petrol and your home uses sources of ___ energy.

A. recycling B. reused C.renewable D. recyclable

41.Most of the air pollution results the burning of fossil fuels, motor vehicles, factories, aircraft and rockets.

A.in B.to C.on D. from

energy in the home.

42.Environmental pollution is becoming an ___serious problem that needs to be taken care of as soon as possible.

A. increasingly B. increasing C.increase D. increased
43. air makes people unpleasant to breathe.

a. Pollute b. Pollution’ c. Polluted d. Polluting
44.People are destroying the air by adding to it.

A. pollutants B. polluters C. pollution D. polluted
45.Nonrenewable energy has negative on the environment.

A, impact B, benefit C, quality D, warning

17



GLOBAL SUCCESS 11

46.People will mainly use fuels such as wind and sun energy for transport.

A, fossil B, nonrenewable C, effective D, renewable
47.People’s lives will continue to be because of the continuous risk of earthquakes and tsunamis here.

A, threat B, threatening C, threatened D, satisfied

48.The overuse of fertilisers and deforestation contribute to global warming

A, chemist B, chemistry C, chemical D, chemist’s

49.We need to preserve the of wildlife because each of species has an important role to play.

A, various B, diverse C, diversity D, extinction

50. include coal, oil and natural gas.

A, Pollutants B, Renewable energy C, Fossil fuels D, Chemical fertilizers

51.Coal, gas and oil are forms of energy that cannot be replaced after used.

A, unlimited B, renewable C, nonrenewable D, contaminated

52.The is the natural world in which people, animals and plants live

A, ecosystem B, ecology C, nature D, environment

53.As a student, I think I should study more and be more responsible for making contribution _____ preserving our

environment better.
A. on B. of C. from D. to

Ex11. Circle A. B. C or D to indicate the word(s) CLOSEST in meaning to the underlined word(s)
1. Greenhouse gas emissions from factories and vehicles can cause global warming
A, cars B, transportation C, burning D, station

2. Global warming has severe impact on water supplies and upset ecological balance

A, positive B, negative C, serious D, remarkable
3. People should change their daily habits to reduce their carbon footprint.

A, rise B, raise C, decline D, remain

4. Many scientists agree that global warming poses great threats to all species on Earth.
A. risks B. annoyances C.fears D. irritations

5. The 1908 Siberian meteorite explosion brought about considerable depletion of the northern hemisphere's

ozone layer.

A. was caused by B. resulted in C. brought back D. was initiated by
6. Coal burning releases a large amount of carbon dioxide into the atmosphere.

A. discourages B. reduces C. relaxes D. discharges

7. We may help if we cut down on energy use by using LED lightbulbs and unplug unused electronic devices.
A.reuse B. reduce C.recycle D. reproduce

8. Global warming results in climate change and extreme weather patterns.

A.results from B. causes C. originates D.is due to

9. Many species are threatened with extinction due to deforestation and loss of habitat.

A. damaged B. spoilt C. treated D. endangered

10.We may help to control global warming by reducing carbon footprints in our homes.

A. putting up with B. getting down to C.cuttingdownon  D. going back to
11.We need to cut down on the emission of carbon dioxide into the atmosphere.

A. intake B. retake C. uptake D. discharge
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12.Land erosion is mainly caused by widespread deforestation.
A. afforestation B. reforestation C.logging D.lawn mowing

13.Global warming has severe impact on water supplies.

A.very good B. very bad C. normal D.long-lasting
14.Global warming occurs when the greenhouse gases in the atmosphere trap the heat from the sun.
A. catch B. discharge C. dispose D. release

15.Deforestation is one of the biggest environmental threats to the ecological balance in the world.

A. sureties B. certainties C. dangers D. safety

16.Global warming is one of the biggest issues facing humans nowadays.

A. causes B. factors C. concerns D. agreements

17.The biggest cause of global warming is carbon dioxide emissions from coal burning power plants.
A. fauna B.flora C. trees D. factories

18.The demand for cars is increasing rapidly in the modern world.

A.need B. offer C.reply D. discovery
19.Forests absorb and capture carbon dioxide from the atmosphere.

A. take up B. take in C. take over D. take to

20.Flood and drought are two major causes of famine.

A. family B. obesity C. hygiene D. hunger

21.It is important to maintain the biological diversity of the rainforests.

A. similarity B. identity C. variety D. compatibility
22.Reusing and recycling glass, plastic, paper and other products help to reduce waste and pollution, and conserve
natural resources.

A. preserve B. reserve C. converse D. reverse

23.Global warming results in climate change and extreme weather patterns.

A. results from B. causes C. originates D.is dueto

24.Some people predict the extinction of some animals because of loss of habitat

A. conservation B. protection C. threat D. disappearance
25.Most of the forest was destroyed because some people cut down trees to produce paper

A. changed B. damaged C.increased D. installed

26.The river was polluted when the residents released a huge amount of sewage

A. comtaminated B. disappeared C. purified D. endangered

27 Many species are threatened with extinction due to deforestation and loss of habitat.

A. damaged B. spoilt C. treated D. endangered

28.For calculating a calendar, it is convenient to use the tropical solar year.

A. practical B. critical C. necessary D. appropriate
29.The medical community continues to make progress in the fight against cancer.

A. speed B. expect more C.do better D. treat better

30.We oppose this war, as we would do any other war which created an environmental catastrophe.
A. pollution B. disaster C. convention D. epidemic

31.Many young children are spending large amounts of time watching the TV without being aware of its detriment
to their school work.

A. harm B. advantage C. support D. benefit
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32.Watch out! The tree is going to fall.
A. Look out B. Look up C.Look on D. Look after
33.The crew divided the life preservers among the twenty terrified passengers as the ship began to sink.

A. exhausted B. surprised C. frightened D. excited

34.As tourism is more developed, people worry about the damage to the flora and fauna of the island.
A. fruits and vegetables B. flowers and trees

C. plants and animals D. mountains and forests

35.Being listed as an endangered species can have negative effect since it could make a species more desirable for

collectors and poachers.

A. awareness B. preservation C. support D. impact

36.The Bali Tiger was declared extinct in 1937 due to hunting and habitat loss.

A.reserve B. generation C. natural environment D. diversity
37.Humans depend on species diversity to provide food, clean air and water, and fertile soil for agriculture.
A. raise B. produce C. supply D. reserve

38.Many schools provide environmental education to increase students' awareness of conservation needs.
A. effort B. benefit C. exploitation D. knowledge

39.The medical community continues to make progress in the fight against cancer.

A. speed B. expectation C.improvement D. treatment
40.Telecommunication is bound to have a huge influence on various aspects of our lives.

A. depression B. technique C. expect D. impact

41.Humans depend on species diversity to provide food, clean air and water, and fertile soil for agriculture.

A. destruction B. contamination C. fertilizer D. variety

42.Life on Earth is disappearing fast and will continue to do so unless urgent action is taken.

A.vanishing B. damaging C. polluting D. destroying

43.Hunting for meat and burning forests for soil cause destruction to wildlife.

A. organization B. contamination C. protection D. damage

44.Local people have cut down the forests to make space for farming.

A allow farming to take place B.lose way in farming  C. have a way of farming D. give way to farming

45.Reusing and recycling glass, plastic, paper and other products help to reduce waste and pollution, and conserve
natural resources.

A. preserve B. reserve C. converse D.reverse

46.Air pollution is a consequence of fossil fuel burning by motor vehicles, factories, aircraft and rockets.

A. product B. example C.harm D. result

Ex 12. Circle A. B. Cor D to indicate the word(s) OPPOSITE in meaning to the underlined word(s)
1. Cutting down on energy use is the best way to help reduce global warming.

A. Shrinking B. Declining C. Decreasing D. Increasing

2. Releasing too much carbon dioxide into the atmosphere can lead to global warming.

A.resultin B. result from C. cause D. activate

3. There is growing concern about the way man has destroyed the environment.

A. attraction B. consideration C. ease D. speculation
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4. The Red Cross is an international humanitarian agency dedicated to reducing the sufferings of wounded

soldiers, civilians and prisoners of war.

A. worry and sadness B. pain and sorrow C.loss D. happiness
a. The earth is being threatened and the future looks bad.
A.done B. made C. defended D. varied

5. His policies were beneficial to the economy as a whole.

A. harmless B. crude C. harmful D.innocent

6. "Be quick! We must speed up if we don’t want to miss the flight. "

A. turn down B.look up C. slow down D. put forward

7. The consequences of the typhoon were disastrous due to the lack of precautionary measures.

A. damaging B. beneficial C. severe D. physical

8. Hazardous waste is waste that has substantial or potential threats to public health or the environment.
A. vivid B. risky C. dangerous D. secure

9. The river was polluted when the residents released a huge amount of sewage

A. comtaminated B. disappeared C. purified D. endangered

10. Without conservation, all resources necessary for life would be damaged, wasted or destroyed.

A. preservation B. exploitation C. protection D. change
11. The match has been cancelled because of adverse weather condition. There has been heavy rain for some
days.

A. unfavorable B. bad C. advantageous D. changeable

12. These chemicals have a detrimental impact on the environment They may cause land and water pollution.

A. harmless B. harmful C. damaging D. injurious
13. Adverse weather conditions made it difficult to play the game.
A. favorable B. bad C. comfortable D. severe

14. There was a long period without rain in the countryside last year so the harvest was poor.

A. epidemic B. drought C.famine 1. flood
15. We have to husband our resources to make sure we make it through these hard times.
A. spend B. manage C. use up D. marry
16. On the negative side, the labour market is still weak.
A. worse B. effectless C. bad D. positive

Ex 13. Circle A. B. C.or D to indicate the correct response to each of the following exchanges.
1. Two friends Nam and Lan are talking about the topic of global warming.

~ Nam: What are the main threats to the environment today?

A. Threats are possible dangers to the environment. B. Probably deforestation and global warming.
C. Environmental pollution is a big issue for our planet. D. We need a clean environment to live in.
2. ~ Nam: What causes global warming?

~ Lan: ", "
A. Changes in weather patterns resulting from global warming.
B. Too much carbon dioxide being trapped in the atmosphere.

C. Catastrophic consequences of global warming.
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D. Common global warming consequences.

3. ~ Nam: What are the consequences of global warming?

~ Lan: ", "
A. Global warming causes many consequences. B. Consequences of global warming is catastrophic.
C.Icebergs melt and low-lying areas are flooded. D. More trees are being cut down.

4. ~ Lan: How can ordinary people help protect the environment?
~Nam: "......ceees
A. Only ordinary people can do to help the environment. B. Environment really needs our help.
C. We may use environmentally-friendly products. D. Both governments and individuals are to blame on.
5. ~ Nam: Do you do anything to protect the environment?
~Lan: "......... "
A.Irefuse to use plastic bags and try to recycle as much as possible.
B. I use alot of plastic bags and containers to save the environmen
C.I'm not interested in the subject of environment.
D.Idon't want to change my lifestyle.

6. ~ Lan: What solution to air pollution can you suggest?

~Nam: "......cccc.... "
A. Air pollution is really serious these days. B. Smoke from factory chimneys pollutes the air.
C. Air pollution causes acid rain. D. People should use public means of transport.

7. ~ Nam: What is the biggest environmental problem facing our country?

~Lan: ".....en. "
A. Too much toxic sewage is dumped at sea. B. All countries face environmental problems.
C. No one can help protect the environment. D. Our country is facing the biggest environmental problem.

8. ~ Nam: Is global warming a problem in our country?
~Lan: "......... "
A. Global warming is getting more and more serious.
B. Governments are closely working together to solve environmental problems.
C. Global warming causes sea level to rise.
D. Probably. The temperatures are getting hotter year by year in the area.
9. ~ Nam: Why is global warming a problem?
~Lan: "....s "
A. People find it difficult to adapt to the changes in the weather patterns.
B. Global warming can benefit people in certain areas.
C. There's no need to worry about global warming.
D. Global warming is a very interesting topic for presentation.
10. -~ Lan: How can we help to fight deforestation? ~Nam: "......cnees !
A. We may recycle paper and buy recycled paper products.

B. We may cut down trees at an alarming rate.

C. Wie should only cut branches of big trees. D. We should set up animal ranches near forests.

11. ~ Nam: What will happen if the low-lying areas are flooded? ~Lan: ..o,

A. Low-lying areas are often flooded. B. Flood happens when water level rises

C. Low-lying areas can never be flooded. D. People in these regions will have to face a lot of problems.
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12. ~ Nam: What are global warming gases? ~ Lan: ", "

A. Global warming gases are mainly man-made. B. Global warming gases are everywhere.

C. The amount of carbon dioxide is increasing. D. Carbon dioxide, nitrous oxide, and methane.

13. ~ Lan: What can government do to punish factories that violate environmental law? ~ Nam: "................. !
A. So many of them are polluting the environment. B. Yes, I think a big fine would be relevant.

C. They may force those factories to close down. D. There are no factories in this region.

14. ~ Lan: Who has to suffer global warming effects the most? ~Nam: "......cccco.. "

A. What are global warming effects? B. Maybe poor people in low-lying areas.

C. All people suffer from global warming. D. Only few people benefit from global warming.

15. ~ Lan: What do you do to help the environment? ~ Nam: "................. "

A. Tt is the responsibility of the government. B. I try to recycle more and reduce carbon footprint.
C. Everyone can protect the environment. D. Environment helps people live comfortably.

16. Peter and Dane are talking about environmental protection.

- Peter: “We should limit the use of plastic bags.”

- Dane: “ . We can use paper bags instead.”

A.Icompletely agree. B. It's not true. C.Idon’t quite agree D.You're wrong.
17. David is apologising to his teacher for being late.

- David: “Sorry I'm late! The traffic is so heavy.”

- Teacher: “ . Come in and sit down.”

A. You're so kind B. It’s alright C. Me neither D. Thank you
18. Peter and Mary are talking about social networks.

- Peter: “Using social networks may have negative effects on students.”

-Mary: “ . It distracts them from their studies.”

A.T'm not sure about that B.Idon’t quite agree C. You're wrong D. That’s quite true
19. Linda and Peter are talking about safe driving.

- Linda: “I think drink-driving should be severely punished.”

- Peter: © . It may cause accidents or even deaths.”
A. You must be kidding B.Idon’t think so
C.Idon’t understand what you mean D. I absolutely agree with you

20. A porter is talking to Mary in the hotel lobby.
- Porter: “May I help you with your suitcase?”
- Mary: “ "
A. What a shame B. Me too C. You're welcome D. Yes, please
21. Porter: “Shall I help you with your suitcase?”
- Mary: “
A. Not a chance. B. That’s very kind of you. C.Ican’t agree more.D. What a pity!
22. Maria and Alex are talking about the environment.
- Maria: “Our environment is getting more and more polluted. Do you think so?”
- Alex: “ .It’s really worrying.”
A.T'll think about that B.Idon’t agree C.Idon’t think so D.Ican’'t agree more
23. Lizis telling Andrew about her first novel.

- Liz: “Guess what? My first novel has just been published.”
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- Andrew: “

A. It's my pleasure. B. Congratulations! C. Better luck next time! D. It’s very kind of you.

24. 25.Mrs Smith and her students are visiting the zoo.

- Mike: “Can I feed the gorilla, Mrs Smith?”

- Mrs Smith: “ . The sign says ‘No feeding the animals’.”

A. Of course you can B.Idon’t think it works C.I'm sure about that D.I'm afraid not
25. Nancy and James are talking about their school days.

- Nancy: “I think school days are the best time of our lives.”

- James: “ . We had sweet memories together then.”
A.T'm afraid so B. Absolutely. C. That'snonsense  D.Idoubtit
Ex 14. Rewrite the following sentences as long as the meaning is unchanged, using participles

1. She was talking to her friend and forgot everything around her.
Talking
2. Since we watch the news every day we know what's going on in the world.
Watching

3. They are vegetarians and don't eat meat.

Being
4. The dog wagged its tail and bit the postman.
Wagging

5. While she was tidying up her room she found some old photos.

Tidying

6. He was a good boy and helped his mother in the kitchen.
Being

7. Asthey didn't have enough money they spent their holidays at home last year.
Not having

8. The man was sitting in the cafe. He was reading a paper.
The man

9. Since I didn't feel well I didn't go to the cinema.

Not feeling

10. She walked home and met an old friend.

KEY

1. Talking to her friend, she forgot everything around her.

2. Watching the news every day, we know what's going on in the world.
3. Being vegetarians, they don't eat meat.

4. Wagging its tail, the dog bit the postman.

5. Tidying up her room, she found some old photos.

6. Being a good boy, he helped his mother in the kitchen.

7. Not having enough money, they spent their holidays at home last year.

8. The man was sitting in the cafe, reading a paper.
9. Not feeling well, I didn't go to the cinema
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10. Walking home, she met an old friend.

Ex 15. Rewrite the following sentences as long as the meaning is unchanged, using participles

1. He was accused of murder and arrested.

Accused

2. She was shocked by the bad news and burst into tears.
Shocked

3. The event is organised by our team and will surely be a great success.

Organised

4. The film is based on real events and tells the story of a reporter.
Based

5. She was born in Hollywood and knows all the famous movie stars.

Born

6. The car was taken to the garage. It was repaired within an hour.

Taken
7. She was admired by everyone and began to grow arrogant.
Admired
8. He was dumped by his girlfriend and felt really depressed.
Dumped
KEY
1. Accused of murder, he was arrested.
2. Shocked by the bad news, she burst into tears.
3. Organised by our team, the event will surely be a great success.
4. Based on real events, the film tells the story of a reporter.
5.  Born in Hollywood, she knows all the famous movie stars.
6. Taken to the garage, the car was repaired within an hour.
7. Admired by everyone, she began to grow arrogant.
8. Dumped by his girlfriend, he felt really depressed.

Ex 16. Rewrite the following sentences as long as the meaning is unchanged, using participles
1. Shelay in her bed and wept bitter tears.

She

2. She stood at the corner and talked to her friends.

She

3. The children went from house to house. They played trick or treat.

The children

4. He was very tall. He became a basketball player.

Being

5. He was waiting in the hall. He overheard a conversation.
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Waiting
6. We were sitting in the bus shelter and waited for the rain to stop.
We

7. We had great fun at the party. We played silly games.

We

8. They were chatting along and didn't see the car coming.

Chatting

9. He was picked up by his mother and didn't have to wait for the bus.
Picked
10. She was listening to the radio and didn't hear the doorbell.

Listening

KEY

1. She lay in her bed, weeping bitter tears.

2. She stood at the corner, talking to her friends.

3. The children went from house to house, playing trick or treat.
4. Being very tall, he became a basketball player.

5. Waiting in the hall, he overheard a conversation.

6. We were sitting in the bus shelter, waiting for the rain to stop.
7. We had great fun at the party, playing silly games

8. Chatting along, they didn't see the car coming

9. Picked up by his mother, he didn't have to wait for the bus.
10. Listening to the radio, she didn't hear the doorbell

Ex 17. Rewrite the following sentences as long as the meaning is unchanged, using participles

1. As she was on holiday, she couldn't go to the party.

— Being

2. While she was preparing dinner, she cut her finger.

— While

3. When I travel around Ireland, I always stay in youth hostels.
— When

4. Since she didn't hear the doorbell, she missed the delivery.
— Not

5. Since he didn't feel well, he stayed in bed.

— Not

6. She held his hand and led him through the crowd.

Holding

7. She opened the drawer and took out a book.
Opening

8. Ashe feared that he did not have enough money to support his family, he worked overtime.
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Fearing
9. While I fully understand your problem, I can’t allow you to break the rules
While

10. While I was walking along the street I saw an accident.

Walking

KEY

1. Being on holiday, she couldn't go to the party.
2. While preparing dinner, she cut her finger.

3. When travelling around Ireland, I always stay in youth hostels.
4. Not hearing the doorbell, she missed the delivery.

5. Not feeling well, he stayed in bed.

6. Holding his hand, she led him through the crowd.

7. Opening the drawer, she took out a book.

8. Fearing that he did not have enough money to support his family, he work overtime.
9. While fully understanding your problem, I can't allow you to break the rules.

10. Walking along the street, I saw an accident.

Ex 18. Rewrite the following sentences as long as the meaning is unchanged, using participles
1. I often saw her at the disco. She was surrounded by her admirers.

I

2. He was loved by all who knew her. He devoted his life to others.

Loved

3. IfI am accepted for the job, I'll have to start at the beginning of next month.

Accepted
4. I was exhausted through lack of sleep and fell asleep at my desk.
Exhausted

5. Since it was written many years ago, the book is not suitable for youngsters now
Written

6. Since I was promoted, I've had no time to go out.

Promoted

7. When it is seen from the outside, the building looks a mess, but it is lovely inside.
Seen

8. If we are elected, we will increase the value of pensions.
Elected

9. Unless it is destroyed, this material could have damaging consequences.

Destroyed
KEY
1. 1 often saw her at the disco, surrounded by her admirers.
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2. Loved by all who knew her; he devoted his life to others.

Accepted for the job, I'll have to start at the beginning of next month.
Exhausted through lack of sleep, | fell asleep at my desk.

Written many years ago, the book is not suitable for youngsters now
Promoted, I've had no time to go out.

Seen from the outside, the building looks a mess, but it is lovely inside

Elected, we will increase the value of pensions.

W ® N ook~ w

Destroyed, this material could have damaging consequences.

Ex 19. Listen to the conversation and choose the best answer

1) According to the speaker, greenhouse gases are produced by...

a) heat from the sun b) the actions of people

c) the sun's rays, and also the actions of people d) the video doesn't say

2) Which of these things is a greenhouse gas?

a) carbon monoxide b) carbon dioxide

c) oxygen d) the video doesn't say

3) Which of these ways to generate power provides a clean source of energy?

a) gas b) oil c¢) wind power d) they are all clean sources of energy
4) Which of these things can help reduce levels of carbon dioxide?

a) driving to work b) heating with coal instead of gas

c¢) using public transport d) leaving your TV on standby, rather than switching it off
5) Which of these predictions about climate change does the audio make?

a) If the planet gets warmer, then polar bears will become extinct

b) If the planet gets warmer, then we can expect more floods

c) if the planet gets warmer, then fuel will become less expensive

d) if the planet gets warmer, then sea levels will rise

6) The word extinct means...?

a) to become scarce or rare  b) in need of protection

c. to become endangered d) something that has died out and no longer exists

7) Choose the best answer to complete this statement:

If the planet continues to heat up, expect to experience more extreme weather.
a) then will we b) then can we
¢) then we can d) then should we

8) Which of these things isn't mentioned in the audio?

a) wave energy b) car pooling
c¢) coral reefs d) heat waves
KEY

1) c. Both the sun's rays and the actions of people cause global warming. 2) b.
Carbon dioxide is a greenhouse gas; carbon monoxide and oxygen are not.
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3) c¢. Wind power is a clean source of energy.

4) c. Using public transport can help reduce levels of carbon dioxide.
5) b. If the planet gets warmer, then we can expect more floods.

6) d. The word 'extinct' means something that no longer exists.

7) c. If the planet continues to heat up, then we can expect to experience more extreme weather (the other
answers relate to questions rather than statements, and need to end with a question mark). 8) b. Car pooling isn't
mentioned in the video. and need to end with a question mark).

8) 8)b. Car pooling isn't mentioned in the video.

Ex 20. Listen to the recording and fill in the blank with the words you hear
THE CAUSES AND EFFECTS OF CLIMATE CHANGE
Climate change is a major problem in the world today. Scientists believe that climate change is mainly (1)

by an excess of greenhouse gases, like methane, carbon dioxide, and nitrous oxide. Humans put

these into the atmosphere with our everyday activities. The excess of atmospheric carbon dioxide is caused by

burning (2) , which we use to power our cars. Climate change is expected to cause many (3)

in the future, such as droughts, strong storms, and the loss of ecosystems. Scientists predict that the

Arctic ice will be completely (4) by 2050. However, there are lots of simple ways to help prevent
this. Using less energy, taking public (5) often and eating meat less are all easy ways to fight climate
change.

KEY

caused
fossil fuels

1

2

3. issues
4. melted
5

transportation

Ex 21. Read the following text and choose the best answer to fill in the blanks

Global warming refers to the rise in average surface temperatures on Earth. An overwhelming scientific consensus
maintains that climate change is due primarily to the human use of fossil fuels, which (1) carbon dioxide
and other greenhouse gases into the air. The gases trap heat within the atmosphere, which can have a range of
effects on ecosystems, (2) rising sea levels, severe weather events, and droughts that render landscapes
more susceptible to wildfires.

While consensus among nearly all scientists, scientific organizations, and governments is (3) climate
change is happening and is caused by human activity, a small minority of voices questions the validity of such
assertions and prefers to cast doubt on the preponderance of evidence. Climate change deniers often claim that
recent changes (4) to human activity can be seen as part of the natural variations in Earth’s climate and
temperature, and that it is difficult or impossible to establish a direct connection between climate change and any

single weather event, such as a hurricane. While the latter is generally true, decades of data and analysis support the
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reality of climate change and the human factor in this process. In any case, economists agree that acting to reduce
fossil fuel emissions would be far less expensive than (5) with the consequences of not doing so.

(http://www.takepart.com/flashcards/what-is-climate-change/index.html)

1. A.returns B. repeats C. releases D. retakes

2. A.including B. making C. consisting D. containing
3. A. which B. what C. this D. that

4. A. attributed B. contributed C. believed D. talked

5. A. facing B. solving C. treating D. dealing

Ex 22. Read the following text and choose the best answer to fill in the blanks

Glaciers are melting, sea levels are rising, cloud forests are dying. More alarmingly, wildlife is scrambling to keep (1)
___.It’s becoming clear that humans have caused most of the past century’s warming by (2) ___ heat-trapping gases
as we power our modern lives. Called greenhouse gases, their levels are higher now than in the last 650,000 years.
We call the result global warming, but it is causing a set of changes to the Earth’s climate, or long-term weather
patterns, that varies from place to place. As the Earth spins each day, the new heat swirls with it, (3) ___ up moisture
over the oceans, rising here, settling there. It’s changing the rhythms of climate that all living things have come to
rely upon.

What will we do to slow this warming? How will we cope (4) ___ the changes we’ve already set into (5) ___? While
we struggle to figure it all out, the face of the Earth as we know it-coasts, forests, farms and snow-capped
mountains-hangs in the balance.

(https://www.nationalgeographic.com)

1. A.space B. pace C. rhythms D. step

2. A.relieving B. publishing C. releasing D. unraveling
3. A. pick B. to pick C. picking D. picks

4. A. with B.on C.at D.to

5. A. fluctuation B. direction C. movement D. motion

Ex 23. Read the following text and choose the best answer to fill in the blanks

Although the earth was formed about 4,500 million years ago, human beings have inhabited it for less than half a
million years. Within this time, population (1) hugely and people have had a vast impact (2) ___ the earth.
They have long been able to put the forces of nature to use. Now, with modern technology, they have the power to
alter the balance of life on earth.

Reports helped eliminate the dangerous belief that the world had no boundaries and had limitless resources. (3)

, ecologists have shown that all forms of life on earth are interconnected, so it follows that all human

activity has an effect on the natural environment.

In recent years, people have been (4) the environment under stress. As a result, certain raw materials

such as timber, water and minerals are beginning to run short. Pollution and the (5) ____ of waste are already
critical issues, and the state of the environment is fast becoming the most pressing problem confronting us all. The
way we respond (6) the challenge will have a profound effect on the earth and its life support system
However, despite all these threats, there are reassuring signs. (7) the past few decades, the growth in
population has been more than matched by food production, indicating that we should be able to feed ourselves for

some time yet.
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1. A, have increased B, has increased C, increased D, increases
2. Ain B, on C, at D, into

3. A,However B, Although C, Moreover D, But

4. A, taking B, having C, putting D, making
5. A, burning B, disposal C, absorbing D, applying
6. A, for B, in C, of D, to

7. A, Since B, At C, For D, About

Ex 24. Read the following text and choose the best answer to fill in the blanks
GLOBAL WARMING

Few people now (1) the reality of global warming and its effects on the world's climate. Many scientists
(2) ______ the blame for recent natural disasters on the increase in the world's temperatures and are convinced
that, more than (3) before, the Earth is at (4) from the forces of the wind, rain and sun.
(5) to them, global warming is making extreme weather events, such as hurricanes and droughts, even
more (6) and causing sea levels all around the world to (7)

Environmental groups are putting (8) on governments to take action to reduce the amount of carbon
dioxide which is given (9) by factories and power plants, thus attacking the problem at its source. They are
in (10) of more money being spent on research into solar, wind and wave energy devices, which could
then replace existing power (11)

Some scientists, (12) , believe that even if we stopped releasing carbon dioxide and other gases into the

atmosphere tomorrow, we would have to wait (13)

seems, is to stay.

hundred years to notice the results. Global warming, it

1. A. hesitate B. realize C. disagree D. concern
2. A.give B. put C. take D. have

3. A.yet B. never C. once D. ever

4. A.threat B. danger C. risk D. harm

5. A.Concerning B. Regarding C. Depending D. According
6. A. strict B. severe C. strong D. heavy

7. A.raise B. arise C.rise D. lift

8. A.force B. pressure C. persuasion D. encouragement
9. A off B. away C.up D. over

10. A belief B. request C. favour D. suggestion
11. A factories B. generations C. houses D. stations
12. A but B. although C. despite D. however
13. A several B. over C.numerous D. various

Ex 25. Read the following text and choose the best answer to fill in the blanks

Coal, oil, and natural gas supply modern civilization (1)

most of its power. However, not only are

supplies of these fuels limited, but they are a major source of pollution. If the energy demands of the future are to be
met without seriously harming the environment, existing (2) energy sources must be improved or further
explored and developed. These include nuclear, water, solar, wind, and geothermal power, as well as energy from

new, (3) types of fuels. Each of these alternatives, however, has advantages and disadvantages.
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Nuclear power plants efficiently produce large amounts of electricity without polluting the atmosphere; however,
they are costly to build and maintain, and they pose the daunting problem of what to do with nuclear wastes.
Hydroelectric power is (4) and environmentally safe, but impractical for communities located far from
moving water. Harnessing energy from tides and waves has similar drawbacks. Solar power holds great promise for
the future but methods of collecting and -concentrating sunlight are as yet (5) , as are methods of

harnessing wind power.

1. A.on B. for C. with D. of

2. A.alternate B. alternative C. alternatively D. alter

3. A nonpolluting B. pollution C. polluted D. polluting
4. A. expensively B. inexpensively C. expensive D. inexpensive
5. A efficient B. efficiently C. inefficient D. inefficiently

Ex 26. Read the following text and choose the best answer to fill in the blanks

ENVIRONMENTAL CRIME
We are probably all (1) ___ at some point in our lives of not caring for the environment as much as we should.
Perhaps we drop litter without thinking, or cause (2) ___ by using our cars when it's not necessary. However, the
real environmental (3) __ are those big businesses which ignore the law. For many years now, (4) ___ have

attempted to protect the environment by making businesses responsible for making sure that the chemical they use
don't add to the (5) ___ of the environment. The problem for businesses is that the (6) ___ of the environment costs
money, and businesses will always try to (7) ___ their costs if they can. Some of them do this by simply putting
chemical into rivers when they have finished with them, leading to the (8) ___ of major problems. Although

government (9) ___ may try to catch them doing it, it can be very difficult to get (10) ___ that a particular business is

responsible for an environmental problem. It really depends (11) __ not only the government but also businesses
and individuals as well. All people need to contribute to (12) ___ the environment.

1. A. guilty B. proud C.sorry D. tired

2. A.damage B. pollution C..accidents D. trouble

3. A agents B. crimes C. criminals D. doers

4. A. politicians B. politics C. parties D.residents

5. A.induction B. construction C. instruction D. destruction
6. A. production B. protection C. destruction D. deforestation
7. A.stabilise B. raise C.lower D. save

8. A. creation B. creativity C. creator D. creature

9. A.suspicion B. suspect C. inspection D. inspectors
10. A.improvement B. proof C. waterproof D. prove

11. A.over B.at C.on D.in

12. A protecting B. protect C. protected D. protection

Ex 27. Read the following passage and circle A. B. C. or D to indicate the correct answer to each of the
questions.
We are a planet of seven billion people, and this number is growing by about 370,000 people every day. This is

putting a huge strain on the planet's natural resources. For many governments and environmental organizations, the

race is on to drastically reduce our consumption of resources before they run out.
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Water is one of our most precious resources. Our quality of life, as well as life itself, depends on the availability of
clean, fresh water. It is the most widely used resource in industry, and plays a major role in energy production.
Although 70 percent of the world is covered in water, only 2.5 percent of that is fresh water, and less than one
percent of that freshwater is readily available to us. Yet we often overestimate how much water we have, and reduce
it further through pollution or inefficient use.

Some 92 percent of all fresh water used annually is dedicated to growing plants and raising animals for food. This
means that if water runs out, our food supply might follow. In Indisa, it is estimated that future water shortages could
reduce grain harvests by 25%. In a country where the population exceeds 1.2 billion people and is growing rapidly
every year, this is a huge concern. India, like many developing countries, is already struggling to provide for its
population. While most people in developed countries can get water at the turn of a tap, nearly four billion people
elsewhere lack access to safe water, according to United Nations Development Report.

Rain forests are another endangered resource. While rain forests are critically important to humanity, they are
rapidly being destroyed by human activities. The biggest cause of deforestation is conversion of forest land for
agriculture. Often called the "Lungs of the Planet”, rain forests once covered 14 percent of the Earth's land surface, but
this has shrunk to only six percent. Every second, an area of rain forest, the size of a football field, is destroyed at this
rate. Rain forests will possibly disappear completely in less than 40 years.

(Adapted from: Active Reading)

1. Which best serves as the title for the passage?

A. Resources for the future. B. Human and environment.

C. Awareness of conservation. D. Water pollution

2. The word "strain" in paragraph 1 is closest in meaning to

A. contradiction B. depletion C. harmony D. pressure

3. The word "overestimate" in paragraph 2 is closest in meaning to

A.increase B. reduce C. maintain D. exaggerate

4. In paragraph 2, water is one of our most precious resources because

A. most parts of the world is covered in fresh water B. our quality of life depends on the availability of fresh
water

C. fresh water is hardly used for energy production. D. all freshwater on earth is readily available to us.
5. The word “they” in paragraph 3 refers to

A. rain forests B. humanity C. human activities  D. resources

6. Which of the following is NOT true, according to the passage?

A. Most of the fresh water is used to grow plants and raise animals for food.

B. The availability of clean, fresh water greatly affects our quality of life.

C. Our forests, the "Lungs of the Planet”, are increasing quickly.

D. The deforestation has been caused mainly by conversion of forest land for agriculture.

7. The word “run out” is CLOSET in meaning to
A. are depleted B. go out C. travel D. are decreased

8. Which of the following can be inferred from paragraph 4?

A. "The Lung of our Planet" once covered most of the Earth's surface.

B. Rain forests are unlimited resources.

C. Rain forests may disappear in the near future due to the interference of human beings.

D. The government must be responsible for the shrink of rain forests
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Ex 28. Read the following passage and circle A. B. C. or D to indicate the correct answer to each of the
questions.

Scientists believe that something very serious is happening to the Earth. It is becoming warmer. Scientists predict
that there will be major changes in the climate during the 21* century. Coastal waters will have higher
temperatures. This will have a serious effect on agriculture. Farmers will have trouble producing good crops. In
warm regions, the weather will be too dry. The amount of water could decrease by 50 per cent. This would cause a
large decrease in agricultural production.

World temperatures could increase from 1.5 to 5.6 degrees Celsius by the middle of the 21* century. And the
increase in temperature could be even greater in the Arctic and Antarctic regions. A rise in temperature could cause
the great ice sheets to melt, which, in turn would raise the level of oceans by one to two meters. Many coastal cities
would be underwater. Why is all this happening?

The Earth and its atmosphere are kept warm by the Sun. The atmosphere lets most of the light from the Sun pass
through to warm the Earth. The Earth is warmer by the sunlight and sends heat energy back into the atmosphere.
Much of this energy escapes from the Earth’s atmosphere. However, some of it remains. Gases such as carbon
dioxide, ozone and water vapor absorb this energy and create more heat. Then, this heat is sent back down to Earth,
and the Earth becomes warmer.

Recently, however, an increase of carbon dioxide in the atmosphere is causing serious problems. Too much carbon
dioxide in the atmosphere prevents heat energy from escaping. Too much heat is sent back down to the Earth, and
the amount of carbon dioxide in the atmosphere continues to increase. When oil, gas, and coal burn, they create
large amounts of carbon dioxide. The destruction of rain forests that absorb carbon dioxide also helps to increase
the amount of carbon dioxide in our atmosphere. Some scientists believe that the amount of carbon dioxide in the
air will double by the late 2000s.

Scientists call this warming of the Earth and its atmosphere “the greenhouse effect”. A greenhouse, made of glass
and plastic, is a special place where plants are grown. The sunlight passes through the glass or plastic and warms
the air inside. The heat inside escapes very slowly, so the greenhouse remains very warm. This is exactly what is
happening on the Earth.

Another reason why the Earth is growing warmer is because of the amount of ozone in our atmosphere. Ozone is a
form of oxygen. In the upper atmosphere, very far from the Earth, a layer of ozone helps to protect the Earth from 95
percent of the harmful light that comes from the sun. If your skin receives too much of this light, you would develop
skin cancer. We need the ozone layer to protect ourselves. But the ozone layer is in trouble. Scientists have observed
that the ozone layer is becoming thin, and above Antarctica there is a hole. This allows too much of the sun’s
dangerous light into our atmosphere and makes the Earth warmer.

Scientists say we must start making changes and planning now. We need to continue to do research, so we can
predict what will happen in the future. We must burn less coal, oil, and gas. Other scientists believe that the problem
is not so serious. They think that the Earth is growing warmer naturally, that we don’t need to worry about it now,
and that we should just get ready for life in the warmer climate. Most scientists agree that the causes of the world’s
climate are very complicated. They say that we must continue to measure the amount of carbon dioxide and ozone
in the atmosphere. Scientists also encourage people to learn about the changes that are occurring in the world and
how we can all help protect our atmosphere.

(https://climate.nasa.gov/effects/)

1. Which of the following will be one of the consequences of a warmer earth?
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A. Crops will be poor unless they are grown in the green house.
B. The amount of water will be decreased by half.
C. Farmer will get into trouble because of the heat.
D. There will be no winter on earth.
2. Arise in temperature will be more remarkable ___.
A. in the Arctic and Antarctic regions B. in the coastal cities
C. by the year 2050 D. under the great ice sheets
3. The melting of the polar ice sheets will probably lead to ___.
A. arise in global temperature B. the extinction of many polar animals
C. flooding of many coastal cities D. a serve winter all over the world
4. The Earth wouldn’'t become warmerif .
A. the heat energy didn’t escape from the Earth’s atmosphere
B. sunlight didn’t pass through the atmosphere
C. the Earth didn’t send heat energy back into the atmosphere
D. carbon dioxide, ozone and water vapor didn’t retain the heat energy
5. When the rainforests are destroyed ___.
A. people have to burn coal, oil, gas instead of wood for fuel.
B. heat energy fails to escape from the atmosphere.
C. there is nothing to absorb carbon dioxide.
D. serious problems are caused for the scientists.
6. How useful is the ozone layer?
A. It protects the earth from the harmful radiation from the sun.
B. It absorbs much of the carbon dioxide.
C. It sends the extra heat energy back into space and thus keeps the earth cool.
D. It helps treat skin cancer.
7. The two factors that directly cause the greenhouse effects are ___.
A. the destruction of rain forests and the melting of the polar ice
B. the burning of fossil fuels and the changes of the climate
C. the increase of carbon dioxide in the atmosphere and the decrease of the ozone layer
D. the ignorance of greenhouse owners and the development of skin cancer
8. Which is the best title for the passage?
A. The global warming B. The greenhouse effect
C. The heat energy D. The change of climate in the poles

Ex 29. Read the following passage and circle A. B. C. or D to indicate the correct answer to each of the
questions.

Rains that are almost biblical, heat waves that don’t end - there’s been a change in the weather lately. What’s going
on?

Extreme weather is an unusual weather event such as rainfall, a drought or a heat wave in the wrong place or at the
wrong time. In theory, they are very rare. But these days, our TV screens are constantly showing such extreme
weather events. Take just three news stories from 2010: 28 centimetres of rain fell on Rio de Janeiro in 24 hours,

Nashville, USA, had 33 centimetres of rain in two days and there was record rainfall in Pakistan.
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The effects of this kind of rainfall are dramatic and lethal. In Rio de Janeiro, landslides followed, burying hundreds
of people. In Pakistan, the floods affected 20 million people. Meanwhile, other parts of the world suffer devastating
droughts. Australia, Russia and East Africa have been hit in the last ten years. And then there are unexpected heat
waves, such as in 2003 in Europe. That summer, 35,000 deaths were said to be heat-related.
Peter Miller, a National Geographic columnist, says what is happening to our weather is probably a mixture of
numerous factors. On the one hand, the most important influences on weather events are natural cycles in the
climate. Two of the most famous weather cycles, EI Nino and La Nina, originate in the Pacific Ocean. The heat from
the warm ocean rises high into the atmosphere and affects weather all around the world. On the other hand, the
temperature of the Earth’s oceans is slowly but steadily going up. And this is a result of human activity. We are
producing greenhouse gases that trap heat in the Earth’s atmosphere. This heat warms up the atmosphere, land and
oceans. Warmer oceans produce more water vapour - think of heating a pan of water in your kitchen. Turn up the
heat, it produces steam more quickly. Satellite data tells us that the water vapour in the atmosphere has gone up by
four percent in 25 years. This warm, wet air turns into the rain, storms, hurricanes and typhoons that we are
increasingly experiencing.
Climate scientist, Michael Oppenheimer, says that we need to face the reality of climate change. And we also need to
act now to save lives and money in the future.
(https://www.ngllife.com/wild-weather)

1. The article says extreme weather is

A. becoming more common B. not a natural occurrence

C. difficult for scientists to understand D. always affecting places where lots of people live
2. Extreme weather can be caused by

A.very hot and rainy summers B. routine environmental phenomena

C. human beings’ manufacturing industry D. both natural and manmade activities
3. The underlined word “lethal” in the passage is closest in meaningto ______

A. harmless B. deadly C. beneficial D. modest

4. By writing ‘Australia, Russia and East Africa have been hit in the last ten years’ in paragraph 3, the author means

A. these countries also have drought in the last ten years

B. these countries have made some records in changing the climate

C. they are very populous areas in the world

D. they are also severely affected by extreme weather
5. The underlined word “this” in the passage refersto .

A. the production of greenhouse gases B. the heat from the ocean

C. the growth of ocean temperature D. trapping heat in the atmosphere
6. What happened after pouring rain in Rio de Janeiro?

A. a bad summer B. a severe drought

C. slides of a large mass of dirt and rock D. a period of hot weather
7. Which of the following is considered normal?

A. greenhouse gases B. rising sea level

C. heat-related deaths D. EI Nino and La Nina
8. According to Michael Oppenheimer

A. we cannot do anything to change the fact of climate change.
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B. we can limit the effects of extreme weather.
C. we do not understand the reasons behind extreme weather.

D. we can adapt to the changes of global weather.

Ex 30. Read the following passage and circle A. B. C. or D to indicate the correct answer to each of the
questions.

The costs and benefits of global warming will vary greatly from area to area. For moderate climate change, the
balance can be difficult to assess. But the larger the change in climate, the more negative the consequences will
become. Global warming will probably make life harder, not easier, for most people This is mainly because we have
already built enormous infrastructure based on the climate we now have.

People in some temperate zones may benefit from milder winters, more abundant rainfall, and expanding crop
production zones. But people in other areas will suffer from increased heat waves, coastal erosion, rising sea level
more erratic rainfall, and droughts.

The crops, natural vegetation, and domesticated and wild animals (including seafood) that sustain people in a
given area may be unable to adapt to local or regional changes in climate. The ranges of diseases and insect pests
that are limited by temperature may expand, if other environmental conditions are also favourable.

In its summary report on the impacts of climate change, the Intergovernmental Panel on Climate Change stated,
"Taken as a whole, the range of published evidence indicates that the net damage costs of climate change are likely
to be significant and to increase over time.”

1. What is the main idea of the passage?

A. Environment pollution is real. B. Reasons why low-lying areas are flooded.
C. Solutions to global warming. D. Reasons why global warming is a problem.
2. Which of the following is TRUE as the result of global warming?

A. All people suffer from global warming. B. All people benefit from global warming.

C. Life is more difficult for the majority of people. D. Life is easier for most people.

3. In paragraph 1, the word “this” refers to ___.
A. harder life as a result of global warming B. easier life as a result of global warming
C. climate change on global scale D. flood in low-lying areas

4. In paragraph 2, the word “erratic” is closest in meaning to __.

A. predictable B. unpredictable C.changeable D. unchangeable
5. According to the passage, all of the following are the results of global warming EXCEPT ___.
A. higher temperature B. coastal erosion

C. increasing sea level D. stable rainfall

6. What may happen to diseases and insect pests as a result of global warming?

A. They will become extinct. B. They will increase in number.

C. They will not harm our planet. D. They will be under good control.
Ex 31. Read the following passage and circle A. B. C. or D to indicate the correct answer to each of the
questions.

The Amazon rainforest is home to more than a third of all the world's species of plants, birds and animals.
Twenty per cent of all the birds in the world live in the rainforest. Scientists have discovered thousands of types of

plants and animals that can only be found there. There are thousands - probably millions more that we haven't
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discovered yet. There are at least 2.5 million species of insects there. Imagine what would happen if they all lost
their home? It couldn't happen, could it? Unfortunately, it's happening right now. Yet, the rainforest is big. But it's
getting smaller. The problem is that people are cutting down the trees, mainly to make room for cows. These
provide meat and make money for their owners. This process of cutting down trees is called ‘deforestation'.

The good news is that it is slowing down. In 2004, for example, more than 27,000 square kilometres were cut
down. That's an area bigger than Wales. In 2006, because of all the campaigns to save rainforest, it dropped to just
over 13,000 square kilometres. The bad news is that it's not enough. Scientists predict that by 2030, the rainforest
will have become smaller by 40%. It's possible that by the end of the 21st century, the rainforest will have
completely disappeared. With deforestation, thousands of the animals, birds, fish and plants that live in the Amazon
rainforest lose their home, their natural habitat. Some of them move to other areas, but most of them die. Many
species have already become extinct, and many more will if deforestation continues. That will change the balance of
life in the rainforest and could cause enormous problems to the region's ecosystem.

There's another problem too. Trees and plants are a vital source of oxygen. If we cut them down, we lose that
oxygen. But it's worse than just that. With deforestation, the trees and plants are burnt. This sends gases into the
Earth's atmosphere, which stops some of the Earth's heat escaping. That then leads to the temperature here on the
ground going up. This increase in the world's temperature is called 'global warming', and most scientists believe it's
a very serious issue. If they stopped deforestation, it might help prevent global warming.

1. Which title best summarises the main idea of the passage?

A. Chances for owners of cow ranches B. Threats to Amazon rainforest

C. Global warming effects D. Habitat destruction

2. According to the passage, which of the following is TRUE?

A. A fifth of all the birds in the world live in the rainforest.

B. 20% of all the animals in the world live in the rainforest.

C. Nearly two million species of insects are found in the Amazon rainforest.

D. Nearly half of the world's species of plants grow there.

3. In paragraph 1, the word "room” is closest in meaning to __.

A. chamber B. flat C.area D. studio
127.1In paragraph 2, the word "it” refers to ___.

A.room B. process C. rainforest D. deforestation
4. According the passage, which of the following is TRUE about Amazon rainforest?

A.It has become smaller by 40%. B. The deforestation is decreasing.

C. 25% of animal species are extinct now. D. The deforestation is under control.
5. In paragraph 2, the word “enormous” is closest in meaning to ___.

A. serious B. important C.common D. insignificant
6. What might help to restrain global warming?

A.increasing deforestation  B. stabilising deforestation

C. ceasing cutting down trees D. clearing more trees for farming

Ex 32. Read the following passage and circle A. B. C. or D to indicate the correct answer to each of the
questions.
Right now, the biggest source of energy in the world is fossil fuel. Fossil fuels are oil, gas, and coal. More than 80

percent of the world's energy comes from fossil fuel. There are many problems with fossil fuel. One problem is that
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when fossil fuel is burned, it pollutes the air. Also, when we take fossil fuel from the Earth, we often cause a lot of
damage. Another problem is that we are running out of it. That is why we need new sources of energy. A big source
of energy for many countries is nuclear power. Thirty-one countries use nuclear power. Many ships also use it.

Nuclear power has some advantages. First of all, we can't run out of nuclear power. Nuclear power does not make
the air dirty. Also, if a country has nuclear power, it doesn't need to buy as much as oil from other countries.
However, there are also a lot of problems that come with nuclear power. For example, nuclear accidents are very
serious. In 1986, there was a nuclear accident in Ukraine. In the next 20 years, about 4,000 people got sick and died.
In 2011, there was another very serious nuclear accident in Japan. Japan is still trying to clean up the nuclear waste
from the accident.

Many people don't want nuclear power in their countries. They say that it is not safe. A lot of people want their
countries to use safer and cleaner ways to get electricity. There have been protests against nuclear energy in the
United States, Russia, France, Taiwan, Japan, India, and many other countries.

Although many people hate nuclear energy, more and more countries are using it. One reason for this is that the
world is using more and more energy. We just don't have enough fossil fuel. However, if we use nuclear power, then
we may have more serious problems in the future.

1. Which of the following is NOT true about fossil fuel?

A. It can pollute the air. B. We don't use much of it.

C. Its sources are limited. D. Mining fossil fuel can bring harm to the environment.

2. All of the following are true about nuclear accidents EXCEPT that ____.

A. they have been very serious B. their effects can last many years
C. it doesn't take us much time to clean up the nuclear waste from the accident

D. there were serious nuclear accidents in Ukraine in 1986 and in Japan in 2011

3. The phrase "clean up" in paragraph 3 is closest in meaningto .

A. block B. evacuate C. disappear D. remove

4. What does the word "They" in paragraph 4 refer to?

A. countries B. protesters C. officials D. supporters
5. Which of the following statements would the author of the passage support most?

A. Some governments are wrong when they are using nuclear energy.

B. We should consider seriously nuclear power because it has both advantages and disadvantages.
C. We can continue using nuclear energy until there is an accident.

D. Many people don't want nuclear power in their countries and governments should follow their people.

Ex 33. Read the following passage and circle A. B. C. or D to indicate the correct answer to each of the
questions.

Globally we use more energy than ever before, and the demand is rapidly growing. Economic expansion of
emerging market economies, population growth and our increasing use of energy-consuming devices are among
the most important contributing factors.

About one-third of the radiation hitting Earth’s atmosphere is reflected back out into space by clouds, ice, snow,
sand and other reflective surfaces. The other two-thirds is absorbed by the Earth’s surface and the atmosphere. As
the land, oceans and atmosphere heat up, they re-emit energy as infrared thermal radiation, which passes through
the atmosphere. Heat-trapping gases like carbon dioxide (CO,) absorb this infrared radiation and prevent it from

dissipating into space, giving rise to what we know as the greenhouse effect. The accumulation of CO, and other
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greenhouse gases in the atmosphere is the dominating driver of recent climate change. CO, is estimated to be
responsible for 64 % of man-made global warming. Other greenhouse gases are released in much smaller amounts
but still contribute significantly to the overall warming effect, as they are much more potent heat-trapping gases
than CO,.
The EU is taking action on many levels. One example is on fluorinated gases that are contributing less than CO, but
still a particular point of concern in addressing climate change. They are used in several types of products, such as
in refrigeration, air-conditioning and heat pump equipment. While fluorinated gases are released into the
atmosphere in smaller quantities than other greenhouse gases, they are extremely potent - they produce a warming
effect 23 000 times greater than CO,. For this reason the EU has decided to control their use. The EU’s regulation on
fluorinated greenhouse gases aims at cutting the Union’s emissions by two-thirds compared to 2014 levels.
Chemicals are not only part of the problem - they are also part of the solution. Sustainable energy sources like solar
power rely on chemical innovation using, for example, nanomaterials. One of the main challenges with renewable
energy is how to increase its viability with the help of energy storage solutions. For example, solar panels have the
best conditions in the desert, but that is not where most people live. Windmills also produce power during the night,
which is when our energy consumption is at its lowest. In other words, technologies to improve energy storage and
transportation is one of the important areas of research where innovation is needed.
(Source: https://chemicalsinourlife.echa.europa.eu/)

1. The passage mainly discusses

A. Inspiration behind global protests. B. Disagreement between activists and scientists.

C. Controversial environmental policies. D. Chemicals and global warming.
2. The word “emerging” in paragraph 1 can be replaced by _______

A. beginning B. problematic C. provisional D. developing
3. According to paragraph 2, why does part of the energy received from the sun remain on Earth?

A. The carbon dioxide absorbs and re-emits the thermal radiation from the Earth’s surface.

B. The infrared radiation is not capable of escaping the ozone layer with the help of human tools.

C. The heat is hindered from dispelling by clouds, ice, snow and sand.

D. Human forcefully keep the extra thermal energy for future use.
4. The word “potent” in paragraph 2 can be replaced by _____ .

A. energetic B. dormant C. active D. lethargic
5. The word “They” in paragraph 3 refersto___.

A. reflective surfaces B. fluorinated gases

C. greenhouse gases D. energy sources

6. According to paragraph 3, what action has the EU take in response to global warming?
A. They keep track the emission of fluorinated gases to curb its release to an optimal level.
B. They analyse the statistics of each year’s carbon footprint of the world.
C. They introduce new legislations concerning the consumption of plastic.
D. They dismiss the issue as a natural process and neglect its evident impacts
7. Which of the following statements is TRUE, according to the passage?
A. Solar energy is easier to harness in the dynamic and populated cities.
B. There is a broad consensus that human activity is the main cause of global warming.
C. CO, is reported to account for more than two-thirds of artificial warming effect.

D. Methane is the most powerful heat-trapping chemical substance.
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8. Which of the following can be inferred from the passage?
A. We are coming closer to the next Ice Age more than ever.

B. The physical environment holds the capability of shaping life’s grand patterns.

D. Most people do not believe in the occurrence of global warming despite abundant evidence.
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